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Homework #2

Question 1: (10 points)

Suppose that the government wants to make sure that the price of milk is low enough for

everyone to afford. The equilibrium price in the market for milk is $5 per gallon. The

government wants milk to be $3.

a. (2 points) What kind of price control should they implement in order to

reduce the price to $3?

Price Ceiling
b. (4 points) In a clearly labeled diagram, show the effects of the price control

in (a) on the market for milk. Be sure to label the amount of the

shortage/surplus.

c. (2 points) Suppose that the amount of milk transacted in the market for

milk is the smaller of quantity demanded and quantity supplied. In the

diagram above, label the smallest deadweight loss that would occur under

the price control. See diagram.
d. (2 points) Name one way the milk may be rationed under the price

control. Is the deadweight loss that we see under this rationing method

likely to be bigger or smaller that that shown in (c)? Why?

Ration coupons may be distributed. This would make deadweight loss smaller than shown in the diagram. This is because the value of the rationing coupons will increase since the opportunity cost of using the rationing coupon increases. The real price of milk increases because of this and demand then decreases because of this and then reduces the deadweight loss.

Question 2(10 points):

Consider the perfectly competitive market for mangos. Suppose that you observe the

following data about the market for mangos: When the price of mangos is 1, the quantity

demanded of mangos is 100, and the quantity supplied of mangos is 75. When the price of

mangos is 3, the quantity demanded of mangos is 75 and the quantity supplied of mangos is

200.

a. (3 points) Solve for the price elasticity of demand for mangos.

ed = ΔQd%/ ΔP% = -.71
b. (3 points) Solve for the price elasticity of supply for mangos.

es = ΔQs%/ ΔP% = .91
c. (4 points) Suppose that the cross price elasticity of demand of mangos for

papaya is -2. In a clearly labeled diagram below, show what happens in the

market for mangos when the price of papaya increases. Make sure that your

diagram reflects the information from parts (a) and (b). What happens to the

price and quantity of mangos? (Your diagram does not need to be to scale.)

Question 4: (3 points)

Sketch indifference curves for the following goods. Briefly explain why your

pictures are shaped the way they are (1 – 3 sentences). Put the first good of the pair on the

x-axis. (Shape of IC is important for this question).

a. (1 point) Left shoes and Right shoes

b. (1 point) 6 pack of Coca-Cola and 12 pack or Coca-Cola

c. (1 point) Books and tennis rackets

Question 5: (2 points)

Suppose that the price of hats is $2 and the price of skis is $100. Suppose that your income

is $500. In a clearly labeled diagram, show your optimal consumption bundle of skis and

hats. Label the quantity of hats consumed as QH, and the quantity of skis consumed as QS.
